38968503296. 05/2016

ASSEMBLY/INSTALLATION

Chain/Belt Drive Models

PRE-INSTALLATION CONSIDERATIONS

This opener includes parts and supplies needed for installation in most garages and on most garage doors. There are many variations of garages and garage doors. A few
additional parts and supplies may be needed for installation in your garage and to your garage door. While going over these instructions, please note the additional items
you may need. For help finding a local Genie"Professional Dealer, refer to the dealer locater at www.GenieCompany.com or call Customer Service at 1-800-35-GENIE.

There are a few specific areas which might require extra materials. Measure the height of your door. For doors taller than 7' and up to 8' in height, you will
need a Rail Extension Kit for the door to fully open.

See section 4 - The header above the garage door where torsion springs are used—does it extend far enough above the spring(s) to allow mounting of the header
bracket? If not, or if you can't tell—you will probably need a piece of 2" x 6" lumber to span across wall studs.

See section 6 - The area overhead where the powerhead will be mounted—if you have a finished ceiling, you will need a piece of perforated angle which can span
across beams of trusses. See section 9 - Is there wood along the door tracks near the floor where the Safe-T-Beam’ can be most easily mounted, or will you need
fasteners or some other material for mounting to the track itself? Will you need extension brackets or wooden blocks to extend the Safe-T-Beam far enough off the wall to
see past any door hardware?

Is there an electrical outlet within approximately 3' of the point where the opener will be? If not, you need to contact a licensed electrician.

Check condition of your door and all its associated hardware: Tracks, springs, hinges, rollers. Is anything loose or appear to be worn? If so, call a trained professional for an
evaluation and repairs. DO NOT ATTEMPT TO ADJUST SPRINGS OR THEIR ATTACHED PARTS!

Operate the door manually. Does it move freely and smoothly? Check the balance of the door by manually lifting it halfway open and release. It should stay put or move
very slowly. If not, call a service person for repairs.

Remove all ropes and remove or disable all locks connected to the garage door before installing opener. It is also recommended that T-handles be removed. Itis
recommended that closed loop lifting handles with no protruding parts remain.

Scan this code for installation videos
OR view on Genie’s website:

www.GenieCompany.com

COMPLETED
INSTALLATION

NEED HELP OR HAVE QUESTIONS?
DO NOT RETURN to the store.
Call Genie: 1-800-35-GENIE or visit www.GenieCompany.com

IMPORTANT INSTALLATION INSTRUCTIONS

POTENTIAL HAZARDS

Overhead doors are large, heavy objects that move with the help of springs under high tension and electric motors. Since moving objects, springs under tension, and
electric motors can cause injuries, your safety and the safety of others depends on you reading the information in this installation poster. If you have questions or do not
understand the information presented, call The Genie Company (1-800-35-Genie). In this section, and those that follow, the words Danger, Warning and Caution are
used to emphasize important safety information.

A panger Indicates animminently hazardous situation which, if not avoided, will result in death or serious injury.
Indicates a potentially hazardous situation which, if not avoided, could result in death or serious injury.
Indicates a potentially hazardous situation which, if not avoided, may result in injury or property damage.

NOTE is used to indicate important steps to be followed or important considerations.

A WARNING
TO REDUCE THE RISK OF SEVERE INJURY OR DEATH

READ AND FOLLOW ALL SAFETY, INSTALLATION AND OPERATION INSTRUCTIONS. If you have any questions or do not

understand an instruction, call The Genie” Company or your local Genie” Factory Authorized Dealer.

+ DO NOT install opener on an improperly balanced door. An improperly balanced door could cause severe injury.
Repairs and adjustments to cables, spring assembly, and other hardware must be made by a trained service
person using proper tools and instructions.

« Remove all ropes and remove or disable all locks connected to the garage door before installing opener.

« Where possible, install door opener 7 feet or more above the floor. For products having an emergency release,
mount the emergency release within reach, but at least 6 feet above the floor and avoiding contact with vehicles to
avoid accidental release.

« DO NOT connect the opener to the source of power until instructed to do so.

«Locate the wall console button: A) Within sight of door. B) At a minimum height of 5 feet so small children
cannot reach it. C) Away from all moving parts of the door.

+ Install the entrapment WARNING label next to the wall button or console. Install red emergency release handle
on the emergency release cord.

- The opener must reverse when the door contacts a 1-1/2 inch high object on the floor at the center of the
doorway. This is about the size of a 2" x 4" board laid flat.

A WARNING

I A moving door could result in serious injury or death.

[ « Keep people clear of opening while door is moving.
a + DO NOT allow children to play with the door opener.

- DO NOT operate a door that jams or one that has a broken spring.

A WARNING

An Electrical Shock could result in serious injury or death.
llm «Turn off power before removing opener cover.
‘ «When replacing cover, make sure electrical wires are not pinched or near moving parts.

« Opener must be properly grounded.

A WARNING

WARNING—-HIGH SPRING TENSION
% DO NOT try to remove, repair or adjust springs or anything to which door spring parts are fastened, such as wood block, steel brackets,

cables or other like items.
« Repairs and adjustments must be made by a trained door system technician using proper tools and instructions.

PARTS INCLUDED

Hammer ” Wrench

- e /@é

RECOMMENDED TOOLS
Square
% or
Z?fety Straightedge
assss Adjustable
Hacksaw

3/32" S

12+ft.
@ Tape
<J Measure
18" Q)J @
5/32" R @ w7 1
@ 7/16"
| 16" || 9116 12 //

Common
Screwdriver

9/16" 5

Phillips Head S

@ 3/8" Wrenches
Ratchet Set

HARDWARE BAGS

BLUE BAG

st

—

&> )
3/8"x1”

CotterPin(x2)  1/4"-20x3/4” Zr
Clevis Pin (x2) Self-Tapping Screw(x3) H'ulwn
Red Release Cord U

@) E Door Bracket

Red Emergency Release Handle 3/8”-16 Hex Nut (x2) 3/8”-16 x 7/8” Bolt (x2)

ORANGE BAG _
Cotter Pin (x2) 5/16"-18 5/16"-18 x 2" Bolt
Serrated Lock Nut

3 <miF S—

5/16"x 1-3/4" Turnbuckle
1/4"-14x 5/8" ” " Clavic Pi
Lag Screw (x2) Self-Tapping Screw (x4) 5/16” x 1-3/4” Clevis Pin (x2)
GREEN BAG AN 4]]]]]111]]]]]11]]]]][[1B YELLOW BAG
Safe-T-Beam’
= 5/16" x 1-3/4" Sensor
5/16"-18 Lag Screw (x2)
Serrated Lock Nut (x2)
5/16"- 18 x 3/4"
Boit6e) VLML e PARTS LIST
Insulated Staple (x40) A =2 Light Powerhead & Lenses J=Curved Door Arm Blue Parts Bag
#6-18%3/8" B =1 Light Poyverhead & Lens K= Stralght Door Arm Yellow Parts Bag
Self-Tapping Screw (xZ)Q:E Safe-T-Beam’ (= Header Rail Section L = Mounting Straps (x2) Orange Parts Bag
Source D = Rail Sections (x4) M = 90ft. Wire Spool Green Parts Bag
E = Sprocket Support Assembly N = Remote (lear Bag (Belt Models Only)
Cover, Belt Retainer iy G = Carriage Assembly 0=Wall Control:
1/4"x1-1/4" H = Idler Pulley (Console or Standard Button)
Belt Models Only Lag Screw (x4) | = Chain or Belt Assembly P = Wireless Keypad(Select Models Only)

1. Check door height; doors taller than 7' up to 8' tall require a Rail Extension Kit (available at leading retail stores)

2. If you need an extension kit, YOU MUST FULLY READ EXTENSION KIT INSTRUCTIONS AND WARNINGS BEFORE

PROCEEDING.

cotter pin.
1b. Insert 5/16"-18 x 2" bolt into header rail and secure with nut.
1c. Slide carriage assembly onto header rail section. Note “door” arrow will point towards idler pulley.
1d. Insert rail sections together by hand as shown. Assembled length is approximately 9'3".
Te. Insert sprocket support assembly into last rail section and place rail strap onto rail.
1f. Route chain/belt assembly gold threaded shaft around idler pulley and silver threaded end around
sprocket. (NOTE: BELT TEETH SHOULD FACE RAIL)

1d Do not force sections together

ASSEMBLING/INSTALLING RAIL
(ORANGE BAG) 0
1a. Align pulley in rail slot and insert clevis pin through header rail hole and idler pulley. Secure with

Gold
Threaded

Silver
Threaded
End

- 5 > > /ﬁ;ﬁ

1g. Install turnbuckle with “door” end arrow onto the gold threaded end by rotating counter-clockwise
one full turn.

1h. Disengage carriage assembly by rotating release handle downward and insert turnbuckle through the
carriage as shown. Ensure chain/belt is not twisted or bound.

1i.  Continue routing the chain/belt assembly until turnbuckle is near the middle of the rail. Insert silver
threaded shaft into the turnbuckle and rotate turnbuckle counter-clockwise one full turn.

1j. Hold chain/belt and rotate turnbuckle with thumbs counter-clockwise until chain/belt is tensioned
properly. Measure chain/belt tension on opposite side of rail until 1/4” from bottom of rail.

Handle

Fully Assembled Rail /~ ™\ Chain Version Shown

TIP!: To minimize chain/belt twist, hold
threaded shafts with hands and rotate
turnbuckle with thumbs.

Opposite Side of Raill

—~———

~—

1

1/4”

1k.

Im. Install belt retainer using #6 x 3/8” self tapping screws.(Clear parts bag, Belt models only).

1l

Once proper tension has been established, hold turnbuckle in place with a 7/16” or adjustable wrench.
Tighten both tension nuts with a 7/16” wrench.

Lower the drive sprocket over the spline shaft on top of the powerhead. Align rail strap and sprocket
support with holes in powerhead. Fully tighten 1/4”-14 x 5/8” self tapping screws. Do not overtighten.

1k

Tighten Locknuts
against the Turnbuckle

ATTENTION!
CRITICAL STEP

1l

1 Bulb Model

Tm

Clear Bag
Belt Models Only

ATTACHING RAILTO
BRACKET (ORANGE BAG)

<M

. Elevate powerhead assembly and position header rail section (C) inside bracket.
NOTE: Support powerhead and have a second person assist during this step.
3b.  Align holes in rail with upper holes in bracket.
3¢ Slide clevis pin through holes in rail and bracket and secure with cotter pin.
3d. Slide carriage near the powerhead now to prevent damage to the door for step 6a.

5/16" x 1-3/4" Clevis Pin —.

UM
\

M

A

3] ““ “
ol

J

—

ATTACHING POWERHEAD
TO CEILING  (GREEN BAG)

There are several methods to mount the powerhead to the ceiling. The most popular methods are shown here.
Attach to garage framework only. DO NOT attach to drywall or partical board.

4a. Ifpossible, lift and support powerhead while a second person fully opens the door. Insert a 2 x 4 board,
cardboard or towel between door and rail to protect door. Measure and mark the door centerline.
Position powerhead over the centerline of door and allow it to rest on board. Otherwise, measure and
mark ceiling 112" * back from the header, aligned with the centerline of the door.

4b.  Method A-For open ceilings with exposed joist, drill 5/32” pilot holes and secure included mounting straps
to joist using 5/16”x 1-3/4” lag screws. Raise powerhead unit so that there is sufficient clearance between
door and rail. Cut and/or bend mounting straps as needed to align with the powerhead and to level the
rail. Secure powerhead to mounting straps using 5/16”-18 x 3/4” bolts and nuts. Ensure powerhead is
centered with the door and remove the 2 x 4 board and/or other protective material.

4c.  Method B-For finished or unfinished ceilings, attach perforated angle (not supplied) to joists using 5/16”
x 1-3/4" lag screws and secure mounting straps to the perforated angle with 5/16"-18 bolts and nuts
(not supplied). Raise powerhead so that there is sufficient clearance between door and rail. Cut and/or
bend mounting straps as needed to align with the powerhead and to level the rail. Secure powerhead to
mounting straps using 5/16”-18 x 3/4” bolts and nuts. Ensure powerhead is centered with the door and
remove the 2 x 4 board and/or other protective material.

4d. Close the Door.

4a =
<« 112"

*Add 12” if adding rail extension kit

Ceiling Joist

)]
o -
2 T VAW I\ T 7
,/7 Door 9
N Protective material to

prevent door damage.
NOTE: Rail should be level to floor.
Additional hanging hardware may

. ]] g
.“ .
Slraps, 5/161, 77 Cd Q
I { Nl ” : d(
~—— 5/1 611 S '
Lag BO|tS ( e‘\\'\( ‘g "O\St

provided

INSTALLING SAFE-T-BEAM’
(YELLOW BAG)

READ ALL STEPS BEFORE PROCEEDING
7a. Position Safe-T-Beam” (STB) Transmitter and Receiver

on each side of garage door 5"-6" above floor. Face the Wall mount

lenses towards each other. o Recelver
7b.  Mark bracket mounting holes; drill 3/32" pilot holes and I

secure with (4) 1/4" x 1-1/4" lag screws (provided) into g

wood. If mounting into concrete or block, other fasteners 5”rf'f',':,or

are required and are available at leading retail stores. " . |
7¢.  Use garage pre-wiring if available. Otherwise, route 2 -7 |

lengths of supplied wire from powerhead, along the Floor mount aption &5

ceiling, across the header and down both sides of the

door, to each sensor. Secure the wire to the ceiling
and walls using the insulated staples in the green

bag. %

7d.  On the powerhead: insert both wires down through
the control wire channel. Remove 1/4" insulation F 2 2 ?
from both sets of white and striped wire. Twist g1
two striped wires together. Using a small flat
head screwdriver, press in the orange tab
at terminal 1 and insert the wires. Twist the
two white wires together and insert into terminal
2. Ensure the wires are in their terminal, adjust as
necessary.

Powerhead

Staples

é(— Receiver

‘\ <Transmitter

7e.  Ateach sensor, remove 1/4" insulation from the

white and striped wires and secure in each terminal. Ensure

o
the wires are secure at each terminal; adjust as necessary. To powerhead

\\
B
)

Transmitter/Receiver

Only use STB set included
with this opener.

Wire from

Photocells

2

A CAUTION

When using insulated staples, make only snug enough to hold electrical wire in place. Staples too tight can
cause damage to wire and cause Safe-T-Beam” System to malfunction.

INSTALLING WALL CONSOLE
8a. Use garage pre-wiring if available. \{%
- =T

Otherwise, route supplied wire from
powerhead to the desired location for the

Staples
V'

wall control. Secure wire with insulated
staples (green bag).
8b. On the powerhead: insert wire down
through the control wire channel. Remove
1/4" insulation from white and striped wire.
Using a small flat head screwdriver, o
press in the orange tab and insert the
white wire in terminal 3 and the striped
wire in terminal 4. Ensure the wires are §
secure in each terminal; adjust as necessary. .,
8c. At the wall console end of the wire, remove

1/4" insulation from the white and striped wires and secure the Wire from
white wire to the "W" terminal and the striped wire to the "B/W" Wall Control i m
terminal as shown. Ensure the wires are secure at each terminal; 1 ire
adjust as necessary. Feed
8d. Mark the wall console mounting holes, drill 3/32" pilot holes and Channel
mount with #6 x 1-1/4" screws. If mounting to drywall, anchors
will be required (not provided).
8e. Post the "ENTRAPMENT WARNING LABEL" (Included in the )
Operation and Maintenance Manual) next to the wall console. 1?2',!’;
olol insulation
;"2 3
> To Powerhead

-

White (|YStriped
to to

Back side
of wall control

Push in on Tabs
to Insert Wire

NOTE: /f pre-wiring is used, ensure that after power is applied to the powerhead (in Step 10), the wall console and Safe-T-
Beam® LEDs come on. This confirms the wiring is correct. If not, you may need to individually wire each Safe-T-Beam” and
wall console at the powerhead.

A WARNING

Use of any other wall control can cause unexpected operation of the door and loss of lighting feature.
Locate wall console within sight of door and far enough from door to prevent contacting it while operating
the console. Control must be at least 5 feet above floor to prevent small children from operating it.

ATTACHING DOOR BRACKET
TO DOOR  (BLUEBAG)

L2

ectional Door (Typical):
5a. Center bracket on door. Attach near

the same height as top rollers. Door centerline Top toller
5b.  Using bracket, mark holes on door.
5¢c. Drill 1/8" pilot holes partially : 5

through the door. I -7
5d. Secure with 1/4" - 20 x 3/4" self- l e’

drilling screws. : ~toP 0
5e.  Some garage door manufacturers <1t 8

garage doo u I -t
provide door brackets that CAN be | P /e he'g
used with your Genie Door Arms. : g /tie 53‘“
vy

Sectional Door (Wooden): : L pne?

[4

5a. Center bracket on door. Attach near M ?
the same height as top rollers. :

5b.  Using bracket, mark holes on door ‘
or frame.

5¢.  Drill 9/32" holes completely
through the door.

5d. Fasten bracket with 1/4" x 2" carriage bolts and nuts (not provided).

5d Sectional (Typical) 5d Sectional (Wooden) 5e Top of door

Door Door centerline

. centerline
Door centerline

A CAUTION

Doors made of masonite, lightweight wood, fiberglass, and sheet metal must be properly braced before
mounting door bracket. Contact door manufacturer or distributor for any questions or concerns. The Genie’
Company is not responsible for any damage caused due to an improperly braced door.

MOUNTING RAIL BRACKET |n||n|
ON HEADER (ORANGE BAG)
2a. Determine “highest point of door travel”:

Get on a ladder to the side of your garage
door. Header

. Bracket
Have someone lift the door open slowly.

2-1/2" above
_highest point of door travel

_________________ - -<— Highest point

As the door is raised, find the highest point 3% 4 of travel
where the door extends above the door Header 178

tracks—that is the highest point of door Track
travel. For sectional doors this is typically I

where the top door roller exits the curved Sectional Distance from the
portion of the track onto the horizontal Door | highest point of

section as the door is raised. door travel to the floor

2b.  With a tape measure, determine the
distance from the highest point of door
travel to the floor.

2¢.  Place a mark on the header at the highest
point of door travel, preferably at the
center of the door (measured side to side).

2d.  Position the header bracket above the highest point of travel:
2-1/2" above highest point of door travel.

2e.  Drill 5/32" pilot holes in header and secure bracket with 5/16" x 1-3/4" lag screws.

Plus 2-1/2"
above highest
point of travel

"
! .

1 Door Centerline
:

Header

. A

/; Bracket <« HEADER D>

as door opeﬂ‘)@d }x 1-3/4"Lag SCVEWYS

) ))j)ql-
J)/}/))))D))D))UH)H”U)J)

!\J MMWMD)}%})@)

Highest point
of door travel

A WARNING

Door springs are under high tension. If spring or shaft is in the way, measure above spring or shaft on the
garage door centerline and mark as location for header bracket. DO NOT ATTEMPT TO MOVE, ADJUST,
OR REMOVE DOOR SPRING!

A CAUTION

Header Bracket must be fastened to garage framing. DO NOT fasten to drywall, particle board, plaster, or
other such materials.

ATTACHING DOOR ARM TO DOOR
BRACKET & CARRIAGE (BLUE BAG) -

Secure cord to the red emergency release handle and carriage release.

6b.  Pull the emergency release cord to disengage the carriage and move it toward the door, about 16" from
the header. Check and adjust chain/belt tension at this tiime (see not below)

6¢.  Sectional Doors typically accept curved door arm (J). Install the curved door arm inside the door bracket
using 3/8”x 1" clevis and cotter pins. In some cases, just the straight door arm (K) may be used if the door
bracket is mounted on the top edge of the door. (FIG. 5¢)

6d. Attach straight door arm to carriage using 3/8”x 1" clevis and cotter pins.

6e. With the door closed, attach the curved and straight door arms together using 3/8"-16 x 7/8" bolts and

nuts. Space the fasteners as far apart as possible.

NOTE: Overall length of both arms should be
minimized, but not so short that the straight
arm is vertical or too long that it exceeds 30°
from the header.

Check and adjust chain/belt tension:
With carraige disengaged, check
belt/chain tension. Proper tension is
obtained when chain/belt is between
bottom of the rail and 1/4" above.
Refer to section ij on this poster.

6c Sectional (Typical)
%C\Ievis pin o\

Clevis pin

Door bracket

6d Attach Door Arm/Carriage

Header end rail section
Header

3/8"-16x7/8" Bolt and
3/8" Nut

LIGHT AND LENS ASSEMBLY

9a. Install light bulbs into powerhead light socket(s).

9b. Insert lower lens tabs into slots in motor cover on powerhead.

9c.  Snap upper lens tabs into place. It may be necessary to squeeze tabs down slightly to align tabs with
slots at top of opener frame.

A CAUTION

DO NOT exceed maximum wattage, as the unit may overheat and permanent damage may occur. Each light bulb
should be no more than 60W MAX.

Do not use halogen, short neck, or specialty light bulbs as they may overheat the opener.

NOTE: Use of LED bulbs may reduce
the range of your remote controls.

Compact CFL, LED, or Incandescent Bulbs can be used. 60W Max.

Installation & critical steps checklist prior to applying power:

g Check to ensure Turnbuckle lock-nuts have been tightened with
a wrench (Step 1k) This is a critical step to maintain tension on
the chain or belt.

g Check to ensure that wall control and photocells wires have been
routed through the channel to make sure they do not touch the
light bulbs (Steps 7 & 8).

CONNECTING POWER

For Grounded Outlet connection:

10a. Plug in the power cord to standard 115 VAC outlet. Coil excess cord and tape or twist tie it to top of
powerhead. (DO NOT PLACE ABOVE LIGHT BULBS.). Proceed to step 10d.

A CAUTION

DO NOT run opener until travel limits have been set to avoid damage to unit.

A WARNING

Opener is equipped with grounded electrical plug for your protection, and only fits grounded electrical
outlets. DO NOT alter plug in any way! If you have no grounded outlets, have one installed by a
licensed electrician. Opener must be properly grounded to prevent personal injury and equipment damage.
NEVER USE AN EXTENSION CORD! Check local building codes for any requirement that you must have a
permanent hard-wired connection.

For Permanent Wiring by an Electrician:
10b. Cut existing power cord OUTSIDE CHASSIS.

10c. The wire connections must be made INSIDE CHASSIS and there must be at least 6" of new power supply
line wire INSIDE CHASSIS. (Conduit is optional. Conduit, strain relief, and wire nuts are not provided.)

2 Light Model

1 Light Model

10d. Verify that the RED and GREEN lights are lit on the Safe-T-Beam®. If they are lit proceed to step 10e. If they
are not lit, return to step 7 and check wiring.

10e. Verify that the wall console is lit RED. If it is RED, proceed to step 11. If powerhead LED is blinking blue, press
the Sure-Lock® button on the console. If the console is not lit RED, return to step 8 and check wiring.

INSTALLATION IS COMPLETE.
OPENER IS NOW READY TO PROGRAM!

Refer to the Operation and Maintenance Manual for programming and
Battery Backup installation instructions.



rbarnes
Text Box
Only use STB set included with this opener.



38968503269.05/2016 INSTRUCCIONES IMPORTANTES DE INSTALACION HERRAMIENTAS RECOMENDADAS PARTES INCLUIDAS

ENSAMBLAJE / INSTALACION PELIGROS POTENCIALES %d w N %
Llave
ajustable

Las puertas elevables de garaje son objetos grandes y pesados que se mueven con la ayuda de resortes bajo tension alta y motores eléctricos.
sierra para
cinta Métrica /
. lapiz
> pequeino

Debido a que los objetos en movimiento, los resortes bajo tension y los motores eléctricos pueden ocasionar lesiones, su seguridad y la
destornillador
<@ @D
v @

seguridad de terceros depende de que usted lea la informacion en este pdster de instalacion. Si usted tiene alguna pregunta o no entiende la
7/16"
@ i 1/2" e
716" | | 9/16"
9/16" )//
Ratchet =

Martillo

informacion presentada, llame a The Genie Company (1-800-35-Genie). En esta seccion y aquellas que siguen, las palabras Peligro, Advertencia

Modelos con Accionamiento por Cadena/ Correa yPrecaucén s san para enfatzara nformacionde seguridad mportante.

A pELIGRO! Indicaunasituacién inminentemente peligrosa que, si no es evitada, resultara en la muerte o lesién grave.

Indica una situacién potencialmente peligrosa que, si no es evitada, podria resultar en la muerte o lesion grave.

CONSI DERA(ION ES PREVIAS A I.A INSTAI.ACION Indica una situacién potencialmente peligrosa, que si no es evitada, podrd resultar en lesion o dafios a la propiedad.

Este operador incluye las partes y suministros necesarios para instalacion en la MAYORIA de los garajes y en la MAYORIA de las puertas de garaje. Existen muchas variaciones de garajes y puertas de garajes.
Podrdn ser necesarios algunas partes y suministros adicionales para la instalacion en SU garaje y en SU puerta de garaje. Al mismo tiempo que revisa estas instrucciones, por favor anote los elementos
adicionales que usted podra necesitar. Para ayuda para encontrar al Distribuidor Profesional Local de Genie®, llame al teléfono 1-800-0K-GENIE o al Area de Servicio a Clientes al teléfono 1-800-35-GENIE.

Existen unas cuantas dreas especificas que podrian requerir materiales adicionales. Mida la altura de su puerta. Para puertas mayores a 7'y hasta 8'de altura, usted necesitara un kit de extensién del riel para a I
que la puerta se abra totalmente. I H

La palabra NOTA es utilizada para indicar pasos importantes que deben ser seguidos o consideraciones importantes.

Vea la seccion 4 — El cabezal arriba de la puerta del garaje donde son utilizados resortes de torsion - jse extiende hacia arriba de los resortes lo suficiente para permitir el montaje del soporte del cabezal? Si D . J'-‘

no es asf, 0 si usted no puede decir que sucede — usted probablemente necesitaré una pieza de madera de 2" 6" para atravesar los espérragos de la pared. PA R A R E D U CI R E I- R I ES G 0 D E I- ES I 0 N G RAVE o I-A M U E RT E 3/8" Set llaves Phillips e"@ gfé
e

Vea la seccion 6 — El drea por encima donde serd montado el operador — si usted tiene un techo terminado, usted necesitara una pieza de dngulo perforado que pueda atravesar las vigas de las armaduras. < destornillador cortadores de alambre

Vea la seccion 9 - ;Hay madera a lo largo de los carriles de la puerta cerca del piso donde pueda ser montado facilmente el sistema Safe-T-Beam®?, o justed necesitard sujetadores o algiin otro material para LEA Y S| GA TO DAS LAS | N STR U(C | 0 N ES DE SEGU Rl DA D, | N STA LAC'O N Y FU N (' 0 N A M | ENTO S | USTE D

montar usted mismo los carriles? ;Necesitard usted soportes de extension o bloques de madera para extender el sistema Safe-T-Beam® o suficientemente alejado de la pared para ver mds alld de cualquier A ®

piza et e puera? TIENE CUALQUIER PREGUNTA O NO ENTIEND!EUNAINSTRUC(LON, LLAME A THE GENIE® COMPANY 0 A SU BOLSAS DE PIEZAS METALICAS

{Existe una toma de corriente eléctrica dentro de un radio de aproximadamente 3'del punto donde estard el operador? Si no es asi, usted necesitara contactar a un electricista con licencia profesional. D | STR | B U | D 0 R |-0 C AI— A U TO R IZA D 0 DE I-A FA B Rl (A DE G EN I E .

Verifique la condicion de su puerta y de todas las piezas metalicas asociadas: Carriles, resortes, bisagras, rodillos. ;Estd alguna cosa suelta o parece estar gastada? Si es asi, llame a un profesional capacitado para ° NQ instale ?I operador _en una puerta equmbradg de fom_w inapropiada. Una puerta qumbrada de forma mapro-

una evaluacidny reparaciones, s son necesarias. iNO INTENTE AJUSTAR LOS RESORTES 0 SUS PARTES SUJETAS A LOS MISMOS! piada podria causar lesiones graves. Las reparaciones y ajustes a los cables, el ensamblaje de resorte y otras piezas BOLSA AZUL

Opere la puerta I Se mueve librey ?Verifique el equilibrio de la puerta levantandola manualmente hasta la mitad de su apertura y solténdola. Esta deberd quedarse sin metdlicas debe hacerlas una Persor?é de servicio capacitada utilizando las herramientas e m_Strucc'ones apropiadas. ' ] M

movimiento o moverse muy lentamente. Si no es asf, llame a un profesional capacitado para las reparaciones. . Remueva todas |a_5 Cue'rdas e inhabilite todos los bloqueos FoneCtaldOSE" la puert.a antes de instalar el operador. Pasador de Pasador de Tornillos conicos

Remueva todas las cuerdas y remueva o deshabilite todos los bloqueos conectados a la puerta del garaje. También se recomienda que permanezcan las manijas de izaje de circuito cerrado sin partes En donde sea posible, instale el operador de la puerta a 7 pies 0 mas arriba del piso. Para los productos que tengan grillete (x2) aleta (x2) SLF de 1/4"-20x 3/4"

S una liberacién de emergencia, monte la liberacion de emergencia dentro del alcance, pero por lo menos 6 pies
arriba del piso y evite el contacto con vehiculos para evitar la liberacién accidental.

NO conecte el operador a la fuente de energia hasta que se le indique hacerlo.

Ubique el botén de pared o consola: A) Dentro del &ngulo de vision de la puerta. B) A una altura minima de 5 pies
de altura de manera que los nifios pequefios no puedan alcanzarlo. C) Alejado de todas las partes moviles de la

A i T

Cordan rojo de liberacion

|
@ E Soporte de puerta

VIDEO DE ENSAMBLAJE E INSTALACION

puerta. Manija roja de liberacién Tuercas hexagonales Pernos de 3/8™16 X /8" (x2)
7 ge 5 5 oz . Instale la etiqueta de ADVERTENCIA del riesgo de quedar atrapado cerca del botén de pared o consola. Instale la de emergenda de3/8716(x2)
Escanee eSte COdlgo Para Ios VIdeos de InSta|aCIOI1 manija roja de liberacion de emergencia en el cordén de liberacion de emergencia.
, . . El operador debe invertir la direccién del movimiento cuando la puerta toque un objeto de 1-1/2 pulgada de altura BOLSA NARANJA i
0 Vea|OS ()] el Portal de Internet de Genle: en el piso, en el centro del vano de la puerta. Esto es aproximadamente igual al tamafio de un larguero de madera @ @)D)))))))m:@
de 2"x 4" colocado en forma plana. @ bacadordeal Tuerca dentadas  Pemode5/16%18x2”
. ta (x2
www.GenieCompany.com seadandealeaed) des/16"18
A;ADVERTENCIA! I
.. J .. Tirafondo de Tornillos auto-penetrantes T Tensor
Bl Unapuerta en movimiento podria causar la muerte o lesion grave. 567X 1:3/47 (2) de V414X 5/8" (x4) Agepbis et Paquete de grasa rado)
[ + Mantenga a la gente alejada del vano de la puerta en movimiento. S HPR LI
«NO deje que los nifios jueguen con el abridor de la puerta.
« NO haga funcionar una puerta que se trabe o tenga un resorte roto

BOLSA VERDE 2N ) || BOLSAAMARILLA
Tirafondo de - Sensor del Sistema
Tuercas dentadas 5/16”x 1-3/4" (x2) -
de bloqueo de 5/16"-18 (x2) ¢ .

INSTALACION - ‘ AjADVERTENCIA! i
- ( Un choque eléctrico podria causar la muerte o lesion grave. Pernos de 5
TE RM I NADA N }.lm - Apague la alimentacion eléctrica antes de quitar la cubierta del operador. SGARIE ) ““““““ ) Grapa aislada de I'ISTA DE PA RTES
i « Al reemplazar la cubierta, aseguirese de que los alambres no estén pellizcados ni cerca de partes méviles. 1/4" x3/4" (x40) A = Abridor de 2 luces y lentes J — Brazo curvado de puerta P =Teclado inalémbrico (inicamente
I 3 ‘ - El operador se debe conectar a tierra de forma apropiada. B =Abridorde 1luzy lente K = Brazo recto de puerta modelos seleccionados)
Tornill g e .
df;;.:;:(l;t/g'?(i;;"alz]tes:@ (= Seccion de riel del cabezal L = Bandas de montaje (x 2) - Bolsa azul de partes

D = Secciones de riel (x 4)

Fuente del Sistema M = Carrete de alambre de 90 pies - Bolsa amarilla de partes

Safe-T-Beam® E = Soporte del pifion (correa o cadena) _ - Bolsa naranja de partes
A;ADVERTENCIA! 6= Ensamblaje del carro N = Control remoto e
ADVERTENCIA — ALTA TENSION DEL RESORTE H = Polea loca 0 = Control de pared (Consola o botén

A . « Bolsa transparente (iinicamente modelosde correa)
Tirafondo de estandar)

1/4"x1-1/4" (x4)

- NO trate de quitar, reparar o ajustar los resortes o cualquiera de las partes a las que estén conectados los resortes, tales como bloques de
madera, soportes de acero, cables u otros elementos similares.

| = Ensamblaje de cadena o correa

VISITE WWW.GENIECOMPANY.COM

- Un técnico capacitado en el servicio de sistemas de puertas debe hacer las reparaciones y ajustes usando las herramientas y las instrucciones
apropiadas.

ZNECESITA AYUDA O TIENE PREGUNTAS?
NO LO REGRESE A LA TIENDA.
LLAME A GENIE AL TELEFONO: 1-800-35-GENIE O

1. Verifique la altura de la puerta; las puertas mayores a 7'y hasta 8’ de altura requieren un kit de extension del riel (disponible en las

E N SAM B LAJ E / I N STALAC I () N D E L RI E I_ tiendas minoristas principales)

2. SIUSTED NECESITA UN KIT DE EXTENSION, USTED DEBE LEER COMPLETAMENTE LAS INSTRUCCIONES Y ADVERTENCIAS DEL KIT DE EXTEN-
(BOLSA NARANJA) SION ANTES DE PROCEDER.

MONTAJE DEL SOPORTE DEL RIEL
EN EL CABEZAL (BOLSA NARANJA) |

Rl
>

Alinee la polea en la ranura del riel e inserte el pasador por el orificio del riel de la ménsula y por la polea guia. Use la 19.  Instale el barrilito tensador con la flecha “door” en el extremo de rosca dorada enroscandolo una vuelta completa hacia la 1k.  Luego de haber logrado la tension correcta, use una llave de 7/16” o llave ajustable para mantener al barrilito tensador en su 2a. Determine el “punto mas alto del recorrido m . -
chaveta para asequrar la polea. izquierda. lugar. Ahora ajuste ambas tuercas de tension con la llave de 7/16". de la puerta”: gf:t;'gézrjc/:")ig::!;:mzdel
1b.  Inserte el perno de 5/16"-18 x 2" en el riel de la ménsula y asegtirelo con la tuerca correspondiente. 1h.  Para destrabar el carro, gire el mango de liberacion hacia abajo e inserte el barrilito tensador por el carro segun se muestra. 1l Baje la corona motriz por el eje ranurado que est4 sobre el motor abrepuertas. Alinee la barra plana del riel y el soporte de la - Sibase a una escalera de mano en un ::;:;;::;7 =4 delapuerta.
Tc.  Deslice el carro en la seccién del riel de la ménsula. Advierta que la flecha “door” (puerta) apunta hacia la polea guia. . Cf)"ﬁfme quela cadgna/correa no se haya torcido ni atascadt.).. - . corona con los orificios del motor abrepuertas. Ajuste completamente los tornillos autorroscantes de 1/4-14 x 5/8", pero no los costadode lapuertadesugaraje. | AL < Puntode
1d.  Inserte completamente las secciones del riel y tinalas a mano segtin se muestra en la ilustracién. La longitud del conjunto 1i.  Siga pasando el conjunto de cadena/correa hasta que el barrilito tensador se encuentre en medio del riel. Inserte el eje de apriete en exceso. « Haga que alguien eleve lentamente la 2 % 4 recorrido
de las secciones es de unos 93", rosca plateada en el barrilito tensador; luego gire el barrilito una vuelta completa hacia la izquierda. 1m. Instale el retenedor de correa con tornillos autorroscantes nimero 6 de 3/8” (los encontrara en la bolsa transparente de puerta para abrirla Caberal 178 Lt
Tle. Inserte la unidad del soporte de la corona en la tltima seccion del riel y cologue la barra plana del riel en éste. 1j.  Sostenga la cadena/correa y gire el barrilito con el pulgar hacia la izquierda hasta que la cadena/correa quede tensionada accesorios, solo en los modelos de correa).
) ) , : . v ) » " - (Conforme la puerta es levantada, encuen- \
1. Pase el eje de rosca dorada del conjunto de cadena/correa al otro lado de la polea guia y el eje de rosca plateada al otro correctamente. Mida la tension de la cadena/correa del lado opuesto del riel hasta que haya una separacién de 1/4" desde el tre el punto ms alto en donde | A | riel
lado de la corona. (NOTA: DIENTES DE LA CORREA DEBE MIRAR RAIL) fondo del riel. 1k ree PU“ 0masa f) endondefa Puer d
se extiende por encima de los carriles de Puerta Distancia desde el punto
> . la puerta — ese es el punto mds alto del ; de recorrido mas alto
Preste atencion Apriete las contratuercas puet P seccional | )
ere recorrido de la puerta. Para las puertas dela puertaal piso.
SR contra el barrilito : »
seccionales este es donde tipicamente el {
tensador rodillo superior de la puerta sale de la parte 1
curvada del carril sobre la seccion horizon- ]
- Yy
tal a medida que la puerta es levantada.

2b.  Con una cinta de medicion, determine la
distancia desde el punto mds alto del recorrido de la puerta hasta el piso.

2¢.  Coloque una marca en el cabezal en el punto més alto del recorrido de la puerta, preferiblemente en el
centro de la puerta (medido lado a lado).

2d. Posicione el soporte del cabezal encima del punto mas alto del recorrido: - 2-1/2” encima del punto
més alto del recorrido de la puerta.

SOSTENGALQ

Mango de

liberacion 2e. Perfore los agujeros piloto de 5/32” en el cabezal y asequre el soporte con tirafondos de 5/16” x 1-3/4".
Mas 2-1/2"arriba ©
. ' Linea central de la puer
del punto més alto 1
S el del recorrido :
rsion de cadena en ilustracion ¥ delrecordodela P "- /—ZZFZ:EZzau
puerta a medida : <« Cabezal >

1l

Jque la puerta se abre S ‘j." @6‘}4@ — v
\ e Tirafondos de 5/16"x 1-3/4"

A;ADVERTENCIA!

Los resortes de las puertas estan bajo alta tensidn. Si un resorte o eje estuvieran en el camino, mida por
encima del resorte o eje en la linea central de la puerta del garaje y marquelo como el lugar de ubicacién
para el soporte del cabezal. jNO INTENTE MOVER, AJUSTAR 0 QUITAR EL RESORTE DE LA PUERTA!

m A [PRECAUCION
Bolsa transparente

Solo en los modelos
de correa

A CONSEJO: para reducir el torcimiento de la cadena/
correa, sostenga los ejes roscados con las manos y use
los pulgares para girar el barrilito tensador.

Modelo 2 Luces

—~———

El soporte del cabezal debe ser sujetado al marco del garaje. NO lo sujete a la pared sin mortero, de madera
amalgamada, de yeso o de otros materiales similares.

Extremo de rosca plateada

S UJECION DEL BRAZO DE LA PUERTA AL

SOPORTE DE LA PUERTA Y CARRO DE LA
PUERTA (BOLSA AZUL)

UJECION DEL SOPORTE DE LA
PUERTA A LA PUERTA (BOLSA AZUL

ONTAJE DEL CABEZAL ELEC-
TRICO AL TECHO (BOLSA VERDE)

SUJECION DEL RIEL AL
SOPORTE (BOLSA NARANJA)

y piezas metélicas adicionales y estan
disponibles en las tiendas minoristas

Pasador principales.

Eleve el ensamblaje del cabezal eléctrico y posicione la seccidn del riel del cabezal (C) en el interior del There are several methods to mount the powerhead to the ceiling. The most popular methods are shown here. uerta seccional (tipica): Asegure el cordén a la manija roja de liberacién de emergencia (bolsa azul) y la liberacién del carro.
soporte. - Attach to garage framework only. DO NOT attach to drywall or particale board. 5a. Centre el soporte sobre la puerta. Linea del centro Rodill ) 6b. Jale el cordon de liberacion de emergencia para desenganchar el carro y moverlo hacia la puerta,
NOTA: Soporte el cabezal eléctrico y haga que una segunda persona ayude durante este paso. e . Sujételo cerca de la misma altura de de la puerta 9dillos supeniores alrededor de 16" desde el cabezal. Comprobar y ajustar la cadena / tension de la correa en este tiime (ver
3b. Alinee los agujeros en el riel con los agujeros superiores en el soporte. 4a. If possible, lift and support powerhead while a second person fully opens the door. Insert a 2 x 4 board, los rodillos superiores s adel
3c.  Deslice el pasador de grillete a través de los agujeros en el riel y el soporte y aseguirelo con el pasador de cardboard or towel hetween door and rail to protect door. Measure and mark the door centerline. 5h. Utilizando el s?)porte harque los I 6¢ [‘a?sml?griase sa(erlz?())nales tipicamente aceptan brazos de puerta curvados (J). Instale el brazo de puerta
aleta Position powerhead over the centerline of door and allow it to rest on board. Otherwise, measure and . agujeros en la puerta; : 171 . cur\ll)ado en el interior delpsoporte dela [[))uerta utilizandrz) pasadores de griliete y pasadores de ell)leta En
o it ; mark ceiling 112" * back from the header, aligned with the centerline of the door. ; e o - ) U : "
3d. Des_Ilce el carro cerca del cabezal eléctrico ahora para evitar b, Method A-Fgo Fopenceilings with expased jOngt secure included mounting straps to joist using lag 5¢. Perfqre agujeros pllqto de1/8 : e 0/“'0 algunos casos, solamente podrd ser utilizado el brazo de la puerta recto (K) si el soporte de la puerta estd
el U e L screws(provided). Raise powerhead unit so that there is sufficient clearance between door and rail. parcialmente a t(aves dela puerta. l - fnada mpntado sobre el borde superior de la pu_e.rta (FlG. 7e). .
Cut and/or bend mounting straps as needed to align with the powerhead and to level the rail. Secure 5d. Ase?ure con 5or?|ugszai(;|to£ " | P /aBrO"' p 6d. Sujete el brazo de puerta recto al carro utilizando los pasadores de grillete y pasadores de aleta.
powerhead to mounting straps using 5/16”~18 x 3/4” bolts and nuts (provided). Ensure powerhead is perforantes de /4"-20x 3/ | Ll riore 6e. Con la puerta cerrada, sujete el brazo curvado y el brazo recto de la puerta conjuntamente utilizando
centered with the door and remove the 2 x 4 board and/or other protective material. 58, ,Lc\llgunogfabrlcantgs de puertats : P Ee/la altss ¢ pernos y tuercas de 3/8"-16x 7/8" Espacie los
4¢. Method B-For finished or unfinished ceilings, attach perforated angle (not supplied) to joists using lag SegIirl?éf)El(lofeorrﬁlt(i)l?;andi)ospc%rnisu G T /e/r‘i' odi“" sujetadores tan lejos como sea posible.
screws (provided)and secure mounting straps to the perforated angle with 5/16"-18 bolts and nuts (not grazos de puerta Genie 'fije‘ NOTA: La lonaitud alobal de ambos brazos deberd
supplied).Raise powerhead unit so that there is sufficient clearance between door and rail. Cut and/or P : I rhvin da Al B 72 14dz05 aeverd ser
bend mounting straps as needed to align with the powerhead and to level the rail. Secure powerhead to Puerta seccional (madera): | minimizadd, p e;o fo ta(;; cort;a dqu;e / I a[z)o refto i
mounting straps using 5/16”-18 x 3/4”bolts and nuts (provided). Ensure powerhead is centered with the : posicion vertical 0 exceda 30" desde el cabezal.
door and remove the 2 x 4 board and/or other protective material. 5a. (Serygrelel sopor;rle TObr? la onlerta. d
4d. Close the Door. ujete 0 cerca e, amisma altura de Comprobar y ajustar la cadena / tension de la correa:
IO? .rOdI||OS SUperiores. ) Con carraige desacoplado, compruebe cinturén /
5b. - Utilizando el soporte, marque los agujeros sobre la puerta o el marco. tension de la cadena. Se obtiene la tension correcta
4a < 112" % > Techo Vigurta 5¢c.  Perfore agujeros de 9/32” completamente a través de la puerta. cuando la cadena / correa es entre la parte inferior de
*afiadir 12”si assi tension delt 5d. Sujete el soporte con pernos y tuercas de carro de %" x 2" (no se proporcionan). la barandilla y 1/4“més arriba. Consulte la seccién ij en
afiadir 12” si assing extension del tren oste cartel.
| — ' ' 5d Seccional (tipica) 5d «ccional (de madera) 5e Parte superior de la puerta 6c Seccional (Tipico)
) —A% ¥ 95 -' : Linea del centro i ;
/7 . Yl t Linea del centro de la puerfa «—Pasador de grillete
i PUERTA Material de proteccion para 11753 4s} cenuode laverta e 4—, %\
NOTA: El riel debera estar paralelo con evitar dafos a la puerta i(_, S )
el piso. Para los techos de garaje altos, |
Pasador de grillete de podra ser requerido angulos de soporte I asador de aleta
I
|
|

5/16"x1-3/4"

Soporte de puerta

AHHHH&H”NM) ) ””"““ Montajie, -
P A PRECAUCION e © S grotel g
M .Ee,"[“?-id.e_ Las puertas hechas de masonita, madera ligera, fibra de vidrio y placa de metal deben fijarse apropiada- o\

mente antes de montar el cabezal eléctrico de la puerta. Pongase en contacto con el fabricante de la puerta o
el distribuidor si tiene dudas o inquietudes. The Genie® Company no se hace responsable por cualquier dafio
causado por una puerta que no estd sujetada de manera apropiada.

<«—Puerta

Pernos de 3/8"-16x7/8"y
tuercas de cierre de 3/8”

% previsto

NSTALACION DEL SISTEMA SAFE-T-
BEAM® (BOLSA AMARILLA)

INSTALACION DE LA CONSOLA

DE PARED ENSAMBLAJE DE LA LUZ Y LOS LENTES

CONEXION DE LA ENERGIA

LEATODOS LOS PASOS ANTES DE PROCEDER

Posicione el transmisor y el receptor del Sistema Safe-T-Beam® (STB) Montaje en pared o L ’ Para la conexion en tomacorrientes conectados a tierra:

en cada lado de la puerta del garaje 5" — 6" encima del piso. Los lentes 7a R Seisor b LJ'tlllce %lpreD—aIamll:)ra'do e gfaraje s'(fs.t.a | = 9a. Instale los focos (bombillas) dentro de los casquillos para luces del cabezal eléctrico. 10a.  Enchufe el cable de alimentacion al tomacorriente estandar de 115 VCA. Enrolle el exceso de cable de alimentacion y péguelo con

T i, Isponible. De cualquier otra forma, dinja e 9b. Inserte las lengiietas inferiores de los lentes dentro de las ranuras en la cubierta del motor en el cabezal cinta o enréllelo para atarlo a la parte superior del cabezal eléctrico (NO LO COLOQUE ENCIMA DE LOS FOCOS DE ILUMINACIGN).
7b.  Marque los agujeros de montaje del soporte; perfore agujeros piloto de IR e B G LT B K eléctrico Proceda al paso 10d

3/32"y asegtirelos con (4) tirafondos de i 1-1/4" (proporcionados) IAa ”b'cac'(;" |d esEada pa{a 4 c0ntrolvd|e gare(i. | r\ 9c. Encaje las lengiietas de los lentes superiores en su lugar. Podré ser necesario apretar ligeramente hacia A iPRECAUCI ON

. , segure el alambre con las grapas aisiadas (dolsa = Staples b g | | e t | | | | 1 g d | d | d
dentro de la madera. Si se estd montando sobre concreto o blogue, = L[ p abajo las lengiietas para alinearlas con las ranuras en la parte superior del marco del operador.
) i . e verde). Ve ) . . o

seraqre?uer.|do; otro§ qugtadoresyestan disponibles en las & Enelelios diite imeed adEmelegE A IP RECAU CIO N NO haga funqonar el opergdor 5|r]o hasta gue hayan sido configurados los limites

7c l'J)triIIri]c(tlepeaI e?::?anist)glinootritltasa;ra'e si estd disponible. De cualquier otra el vesarstalithode n ool de desplazamiento para evitar danar a unidad.
- Uilke di;r)ija bt el ge a I]ambre o geSde el.(abezal(; er o Remueva 1/4” de aislamiento de alambre blanco y e | NO exceda la potencia mdxima, ya que la unidad podrd sobrecalentarse y podrdn ocurrir dafios permanentes. A:ADVERTENCIA!

alo Ia;go del techo, a través del cabezal y hacia abajo en ambos : conrayas. UtilizanQO un de§armador pequef]o 1 Cada foco (bombilla) de iluminacion no deberd ser de mds de 60 W. ] -

lados de l puerta, haca cada senso. Asegure lalambre al echo [ R SUctdores e cabeza plana, presione hacia dentro la lengiieta No utilice focos (bombillas) haldgenos, cuello corto o de luces especiales ya que podrdn sobrecalentar el abridor. El operador esté equipado con un enchufe eléctrico de conexidn a tierra para su proteccion, y sélo se adapta

y las paredes utiliz,ando las grapas ai.sladas en labolsa verde. e garam ¢ "t])serte d alambrel blancq enl l: tAerm'"aI . : a tomacorrientes con conexion a tierra. jNO altere el enchufe de ninguna forma! Si no tiene un tomacorriente
7d.  Enel cabezal eléctrico: inserte ambos alambres hacia abajo a':loi :Emrgr(ezne;zsss:nufosezw'::La ter::ﬁ;rle " Pueden ser utilizados los focos con conexidn a tierra, solicite a un electricista autorizado que instale uno. El operador debe estar conectado a

através del tubo de alambre de control. Remueva 1/4” de [ Z ot gjuste it necesarig ! (bombillas) incandescentes, CFL com- tierra en forma apropiada para evitar lesiones personales y dafios a los equipos. jNO UTILICE NUNCA UN CABLE

i A A abeza . . A | . s e . s . .o . .

aislamiento de ambos conjuntos de alambre blanco y con ayas. 8. Enel extremo del alambre enla consola de pared, remueva 1/4"de \ f pactos o LED de igual consumo. DE EXTENSION! Venﬁq.u,e los cédigos locales de construccién para cualquier requisito que indique que usted

Retuerza dos alambres blancos conjuntamente. Utilizando un aislamiento de los alambres blanco y con rayas y asegure el alambre NOTA: El uso de focos LED podid reducir el debe tener una conexion de alambrado permanente. NUNCA REMUEVA LA CUBIERTA DEL MOTOR. Todo trabajo

desarmador pequefio de cabeza plana, presione la lengiieta I —— o OTA: £/ uso de focos LED podrd reducir e . . - I . : :

) i ) f /m blanco a la terminal “W”y el alambre con rayas a la terminal “B/W” tal vando de sus controles remotos dentro de la cubierta debe ser realizado por un electricista con licencia usando las herramientas e instrucciones

na@njat enla tterlmur;al ! le '"Sbe"e los a'ambr?s' Be:ulerza | como es mostrado. Asegure que los alambres estén sequros en cada g ’ apropiadas.

:onjgn Elil;e: €105 dos alam |TES tc)on rayta,s e |nserte os-enl a " é terminal; ajuste segl]n 562 Necesario. ' ~

5:;2:]”:93 Hez:g:rrizque os alambres estén en su terminal, ajuste L <—Sensor 8d.  Marque los agujeros de montaje de la consola de pared, perfore Alambre z’gt:a elcal?nrbraldo zermap:ntte real|§3:E&7\rL:XI\TLeEthE::StIaS.

: ~—Fuente los agujeros piloto de 3/32”y méntela con tornillos #6 x 1-1/4” - OrEl0s alambres existentes que :

7e.  Encadasensor, remueva 1/4” de aislamiento de los alambres gujerosp y Canal 10c.  Las conexiones de los alambres deben hacerse DENTRO DEL CHASIS y debe haber por lo menos 6” de alambre nuevo de la linea de

(proporcionados). Si estd montando sobre pared sin mortero, seran

blanco y con rayas y aseguirelos en cada terminal. Asegure que los alambres estan fijados sequramente en la terminal, ajuste segtin . )
y yasy aseg gureq ) 9 / 9 requeridas anclas (no se proporcionan),

suministro eléctrico DENTRO DEL CHASIS. (EI conduit es opcional. No se proporcionan conduit, alivio para tension y tuercas para

| seanecesaro L 8e. Coloque a“ETIQUETA DE ADVERTENCIA DE ATRAPAMIENTO” (Incluida en el | L& LS,
Solo use set STB incluido con este abrelatas. manual de operacion y mantenimiento) junto a la consola de pared. —
ara cabezal > Alcaberal
>
8b-c
\E C - 1 A WARNING
7d \Q °
Blanco ||| Pelado Rﬁ’
to to
STB BWC — - |
1 2 3 4 1284 8e eats or ZZ;.'?J:‘Z.“L‘;’L:ﬁ“’S:Sﬁ. "’“_’““e oot
T Sensor / Fuente “Never ot chid wee door opener conrorn. - . ., R . . Modelo de 2 luce
R Pasos para la instalacién y criticos Lista de comprobacién antes Modelo de T luces
i A ' de aplica rel poder: Verifique que las luces ROJA y VERDE del Sistema Safe-T-Beam® estén encendidas. Si ellas estan prendidas proceda al paso
Hacia los ¥ 10d.  Verifique que las luces ROJA y VERDE del Sistema Safe-T-Beam® estén encendidas. Si ellas estan prendidas proceda al paso 10e. Si ellas
sensores ) . no estan prendidas, regrese al paso 7 y verifique el alambrado.
Parte posterior ﬁi Com pruebe Tensor cierres se han apretado las tuercas con una 10e. Verifique que la consola de pared esta encendida en color R0JO. Si es ROJA, proceda al paso 11. Si el LED azul en el cabezal eléctrico estd
iti id arpadeando, presione el botdn del Sistema Sure-Lock® en la consola. Si la consola no esta encendida en color R0JO, regrese al paso 8
NOTE: /f pre-wiring is used, ensure that after power is applied to the powerhead (in Step 10), the wall console and Safe-T- llave (Paso 1k) Este es un paso critico para mantener la tension en se,i%qued a|a[,)nb,ad0. RSy
Beam’ LEDs come on. This confirms the wiring is correct. If not, you may need to individually wire each Safe-T-Beam” and la cadena o correa.

wall console at the powerhead. g= Compruebe que el control de pared y fotocélulas cables han sido
A;ADVERTENCIA! enrutada a través del canal para asegurarse de que no se toquen
las bombillas (Pasos 7y 8).

iLA INSTALACION ESTA COMPLETA, EL ABRIDOR
ESTA AHORA LISTO PARA SER PROGRAMADO!

A {PRECAUCION

Cuando use grapas aislantes, ajuste Gnicamente lo suficiente para que sostengan los alambres eléctricos en su lugar. El uso de cualquier otro control de pared puede causar la operacién inesperada de la puerta y la pérdida de i . »
Las grapas demasiado apretadas pueden causar dafios al alambre y provocar el mal funcionamiento del sistema Safe-T- la caracteristica de iluminacion. Ubique la consola de pared dentro del alcance dela vision dela puerta y Refiérase al Manual de Mantenimiento y Operacion para las
Beam®. bastante alejado de la puerta para evitar contactarla mientras se opera la consola. El control debe estar por

instrucciones de programacion.

lo menos 5 pies por encima del piso para evitar que nifios pequefios lo operen.



rbarnes
Text Box
Sólo use set STB incluido con este abrelatas.





